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=S ST
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- 2,212,069
FHEZ e 2,151,798 8,019,865 Ab,868,067
Al 728,771
- 1,423,027
38 A& 638,391 525,936 112,455
ST SSAE HIs X3 638,391 525,936 112,455
201 et d| 1,120 1,120 0
01 At 2teltl 1,120 1,120 0
NESFUNAD AN SHag
70,0002 *8H*23 1,120
203 PR F=&d| 9,300 8,580 720
03 Al EAY| 9,300 8,580 720
NESFY NUAY LLEA
1,300,000& 1,300
)2 DAl 3 U AREX
4,500,000 4,500
N2 AIMGRFA 3,500,000& 3,500
307 glztol ™ 227,971 198,236 29,735
02 BIHHAAIHE X 227,971 198,236 29,735
NYRAUFEH ss22idl X
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402 2I12HXHE01 M 400,000 318,000 82,000
01 QIZEE2AISE 22 (KM &) 400,000 318,000 82,000
NS X2AAL 400,000,000& 400,000
SSE 2t 169,867 89,560 80,307
Al 19,450
- 150,417
dct2eARL 29 77,959 77,959
101 21 24H| 56,159 56, 159
04 J12tH22HsSE+ 56, 159 56, 159
nilez 11,1573 *122A1 2438« 11& 44,919
Nt 11,1573 *3H+6A| 2+ 10 2,009
Nge=e 11,1573 x3Z+8AI 2t 113 2,946
N4 s 5,985,000& 5,985
HIl=YI 100,000 *3H 300
201 et | 8,800 8,800
01 AtR 22|l 7,700 7,700
1EE2H| 6,000,000& 6,000
DEEPIEIE=L] 300,000 300
NEAANE EX AR 100,000& x 123 1,200
DIE AARIE ¢ 100,000 »2H 200
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FA B
M =8 e
ctelr s 2 EER-E)
SA B BRAEH) - HRAY - BAS ofl &ty T HIDE2
HRERE 200,000 5293 400
SSTHY SSH 243 MY 22,130 29,410 AT,280
Al 4,450
- 17,680
201 g2l 7,180 6,530 650
Al 900
- 6,280
01 At 22l bl 7,180 6,530 650
NS N2 2=
3,000,000 3,000
Al 900
T 2,100
NSSHEES S2AY SARARE] MA=
g 70,0002 x3E*13] 210
NEEXNS M=
3,000 *940H A+ 102+ 13] 2,820
NBSH 843t ARLIEIZANU g+
50,000& *212] 1,050
NARLIEIZAHU doli2E8=
100,000 100
307 212t01 & 14,950 22,880 AT7,930
Al 3,550
- 11,400
02 QItH LA EX 14,950 22,880 AT,930
NSSF SSH 243
8,950,000& 8,950
Al 3,550
- 5,400
NARD SSFH 3SH 245 At
6,000,000& 6,000
FEHSHZOHS ALY 20,894 0 20,894
B el A A 20,894 0 20,894
101 @1 24H| 20,894 0 20,894
04 JI2HK22NHSE= 20,894 0 20,894
1)el24H] 11,1573 x200A| 2t B +4E 18,655
N4tk 2= 2,239,000& 2,239
SHAIHIE TAIg2de =4 4,830 11,562 26,732
CANESLESE s 22 AHEA 29 2,830 9,262 26,432
201 ger=2d| 1,330 3,682 A2,352
01 AbR 22l 1,330 1,330 0
NE=F SANMRRSE =
70,0003 *19Z*12] 1,330
203 BR=4| 1,500 1,500
03 AIF= AR =LY 1,500 1,500




FA B
=S IS
&2 SHAIINE AL =8 (EHe: &)
SA B BRAEH) - HRAY - BAS ofl &ty T HIDE2
NEAHLSHBAIY PRFE
1,500,000 1,500
=R NSNS S5 2,000 2,300 A300
201 g2l 1,000 1,300 A300
01 AbR 22l 1,000 1,300 A300
N=2NXSSEFEAY S2Y]
500,000 2= 1,000
203 BR=4| 1,000 1,000
03 Al FT AR Y| 1,000 1,000
NAQNABEY 4257
1,000,000 1,000
AHIHsEE A 13,680 37,240 A 23,560
NEZhsEHALY =& 13,680 37,240 A23,560
201 ger=2d| 11,940 15,500 23,560
01 At 22l 10,440 11,000 A560
NXSIIsLAds 2d+ 6,720
2)=2F &3 70,0002 x23H *23] 3,220
2)2Eels 70,0002 x5 #23] 700
22123 70,0002 x5 +83] 2,800
NDASIISEE 1s A=
360,000 23] 720
NDASIsEA FAA = AT M
20,000 »1002 2,000
NAHsEd 822 M
1,000, 0002 1,000
03 8 AL2 | 1,500 1,500 0
IPES Tl E RS
1,500,000 %14 1,500
203 B4l 1,500 1,500
03 AIF=A AR F=LH| 1,500 1,500
NXZIISYA JRFA 1,500,000 1,500
301 LetEd= 240 240
11 HALAHIXIE S 240 240
NASIISLAEARS 225 S
8,0002 %3013 240
dEC|LAHOIE oY 5,700 5,700 0
HELAHOIE MY X NS U HZ 5,700 5,700 0
201 g2l 3,700 3,700 0
01 At 22l 3,700 3,700 0
NabtatdgeAeigs 23+
70,0002 x5 *23] 700
NHETPN0IE 222 MH
3,000,000 14| 3,000
203 HR =8| 2,000 2,000
03 A=A 2= 2| 2,000 2,000
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K ZH:
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FHEE e

Chel: ME|IAOIE ol EERSE)
SA B BRAEH) - HRAY - BAS ofl &ty T HIDE2
NEETA0IE ol HRFX
2,000,000& 2,000
FAXTHE At 1,286,366 7,328,267 26,041,901
Al 709,321
- 577,045
F==1S TAIHAEEESALY 65,138 4,817,575 N4,752,437
201 Zer=2dd| 62,138 84,364 N22,226
01 At 22l bl 56,000 72,364 16,364
NFRZSSOIZAIE AlY 29 22
2,000,000 *3H 246 36,000
NFLUSSOIBAIE S &I Xtz
20,000,000& 20,000
02 3324l 6,138 12,000 A5,862
NFRSS0IEAL AMERYE 2223
341,000 *304 262 6,138
203 BR=4| 3,000 3,000
03 AIF= AR Y| 3,000 3,000
NEAHESHSIAIY HRFE
3,000,000& 3,000
el=ES TAIHMEHSALY 1,221,228 2,510,692 A1,289,464
Al 709,321
- 511,907
101 el24| 33,728 53,583 19,855
04 JIZtHI2E2 XS E 33,728 53,583 N19,855
NAEE 23 2,747,930 113 30,228
Nath 28 3,499,980& 3,500
201 Zer2d| 16,000 32,524 N16,524
01 At22t2ltl 10,000 26,824 A16,824
DHE 2 FOIHFAIL 29 S
833,300 x2 0 A +63 10,000
02 3324l 6,000 5,700 300
NHE 2 848 S 332
500,000 204 262 6,000
203 BR=4| 1,500 1,500
03 Al AR F=H| 1,500 1,500
NEATHAESHSIAIY R
1,500,000 1,500
401 AlZHIZL SO 1,170,000 1,792,650 A622,650
Al 709,321
- 460,679
01 Al£H| 1,170,000 1,792,650 A622,650
1) HEEHSC SR
1,120,000,000& *14] 1,120,000
Al 709,321
- 410,679
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F=H

L2 P

=

o &)

FANN Y A e MR
SN - FH - BAGENA) - NRMY - BES ST 5
NEATHAE SN HE 8
50,000,002+ 141 50,000
ALAES IYl UL HIN = 2,070 2,800
250t A=2 Z| 2,070 2,800
201 2er2 | 9,670 400
01 AL 22t 9,670 400
NEFEANE SETH L 22l
40,0002 400
NPIE RBNAES AT 22
309, 00024 x224» 153} 9,270
203 2= H| 2,400 2,400
03 A= 2= b 2,400 2,400
R0 A2 FY| Y=
2,400,0002! 2,400
N2 A A 789,042 774,506
EELIEETD 789,042 774,506
J|=2 U (F4DH) 789,042 774,506
201 2er2 | 297,978 292,514
01 AL 22l 297,978 290,514
NN EEY 17,770
DARSEY) 10,0002 302 *43] 1,200
2)= ALK (M) 20,0002 475 A <844 Tt 1,760
22N BBAT 40, 000247 A Xt 280
ANFSE 1202 +5,0000H 600
DHNZE 3024 16,0004 480
2)2RATRIY 2RE 250,000 %47 1,000
D)z TRIE T 300, 000215274 600
2)=8| 2AE 210,000 x4 840
2=l o 40,0002 %24 810
2)=80| R 00,0002 +13] 100
DRAESI| KX
100, 00024 +1| 100
DEIMSLA T T 2124
40,0002 50 2,000
NIlELeRT 22HI(=)
8,00021+1612§x2041 + 12200 278,208
202 018 486,864 477,792
01 2L 0TI 486,864 477,792
NIlI=YLET obl(2)
20,00021+16 1241421+ 122 +0% 486,864
203 @27 b| 4,200 4,200
eV EES 4,200 4,200
1)2501 013} 30,0002+ 1224 4,200




